3/8" BOLT W/ WASHER,
NUT AND LOCKWASHER
BY OTHERS

ENCAPSULATED PVC
EMBEDDED IN FLANGES

\— ASSEMBLE 3/8" WASHER,

NUT AND LOCKWASHER
© BY OTHERS

—— 3/4” BOLT W/ WASHER,
NUT AND LOCKWASHER,
BY OTHERS

—— ANGLED W 3
@ By 0 S

ROOF TRUSS
PITCH TO BE VERIFIED
BY CONTRACTOR

AN

2x WOOD BLOCKING
BY OTHERS

DO NOT POSITION UNTIL
CUPOLA HAS BEEN
DELIVERED

ASSEMBLE 3/4” WASHER,
NUT AND LOCKWASHER
BY OTHERS

(I\ATTACHMENT TYPE 1
SCALE: 1-1/2" = 10"

— \SD-},

CUPOLA BARREL

ASSEMBLE
3/8" BOLTS W/
HEAVY-DUTY WASHER
AND NUT @ 2 PER
o SEGMENT

CUPOLA BASE

ROOF TRUSS
PITCH TO BE VERIFIED
BY CONTRACTOR

ATTACH WOOD
BLOCKING, BY OTHERS,
TO ROOF STRUCTURE,
DO NOT LOCATE UNTIL
CUPOLA IS DELIVERED

COUNTERSUNK
SCREWS, FILL TO
MATCH SURFACE,
BY OTHERS

[ 2\ATTACHMENT TYPE 2
T\ SCALE: 1-1/2° = 1—-0"

CUPOLAS ATTACHMENT
SHEET NO. DETAILS
2020

ARCHITECTURAL FIBERGLASS, INC.

8300 BESSEMER AVE., CLEVELAND, OHIO 44127—1839
(216) 641—-8300 — FAX:(216) 641—8150
www.fiberglass—afi.com n




